Scaling Up: How to Grow the Topology 
of an Existing Experiment

X = 1
A = 100 + X = ___
The IP Address of the shared VLAN interface should be set to:
10 . 100. 1 . ___
             100+X

Aggregate:   Stanford InstaGENI
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Scaling Up: How to Grow the Topology 
of an Existing Experiment

X = 2
A = 100 + X = ___
The IP Address of the shared VLAN interface should be set to:
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Scaling Up: How to Grow the Topology 
of an Existing Experiment

X = 3
A = 100 + X = ___
The IP Address of the shared VLAN interface should be set to:
10 . 100. 1 . ___
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Scaling Up: How to Grow the Topology 
of an Existing Experiment

X = 4
A = 100 + X = ___
The IP Address of the shared VLAN interface should be set to:
10 . 100. 1 . ___
             100+X
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Scaling Up: How to Grow the Topology 
of an Existing Experiment

X = 5
A = 100 + X = ___
The IP Address of the shared VLAN interface should be set to:
10 . 100. 1 . ___
             100+X

Aggregate:   Stanford InstaGENI
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Scaling Up: How to Grow the Topology 
of an Existing Experiment

X = 6
A = 100 + X = ___
The IP Address of the shared VLAN interface should be set to:
10 . 100. 2 . ___
             100+X

Aggregate:   Illinois InstaGENI

[image: Macintosh HD:Users:sedwards:projects:GENI:GEC21:ScalingUp:Pics:Illinois.png]




























Scaling Up: How to Grow the Topology 
of an Existing Experiment

X = 7
A = 100 + X = ___
The IP Address of the shared VLAN interface should be set to:
10 . 100. 2 . ___
             100+X

Aggregate:   Illinois InstaGENI
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Scaling Up: How to Grow the Topology 
of an Existing Experiment

X = 8
A = 100 + X = ___
The IP Address of the shared VLAN interface should be set to:
10 . 100. 2 . ___
             100+X

Aggregate:   Illinois InstaGENI
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Scaling Up: How to Grow the Topology 
of an Existing Experiment

X = 9
A = 100 + X = ___
The IP Address of the shared VLAN interface should be set to:
10 . 100. 2 . ___
             100+X

Aggregate:   Illinois InstaGENI
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Scaling Up: How to Grow the Topology 
of an Existing Experiment

X = 10
A = 100 + X = ___
The IP Address of the shared VLAN interface should be set to:
10 . 100. 2 . ___
             100+X

Aggregate:   Illinois InstaGENI
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Scaling Up: How to Grow the Topology 
of an Existing Experiment

X = 11
A = 100 + X = ___
The IP Address of the shared VLAN interface should be set to:
10 . 100. 2 . ___
             100+X

Aggregate:   Wisconsin InstaGENI
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Scaling Up: How to Grow the Topology 
of an Existing Experiment

X = 12
A = 100 + X = ___
The IP Address of the shared VLAN interface should be set to:
10 . 100. 2 . ___
             100+X

Aggregate:   Wisconsin InstaGENI
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Scaling Up: How to Grow the Topology 
of an Existing Experiment

X = 13
A = 100 + X = ___
The IP Address of the shared VLAN interface should be set to:
10 . 100. 2 . ___
             100+X

Aggregate:   Wisconsin InstaGENI
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Scaling Up: How to Grow the Topology 
of an Existing Experiment

X = 14
A = 100 + X = ___
The IP Address of the shared VLAN interface should be set to:
10 . 100. 2 . ___
             100+X

Aggregate:   Wisconsin InstaGENI

[image: Macintosh HD:Users:sedwards:projects:GENI:GEC21:ScalingUp:Pics:Wisconsin.png]





























Scaling Up: How to Grow the Topology 
of an Existing Experiment

X = 15
[bookmark: _GoBack]A = 100 + X = ___
The IP Address of the shared VLAN interface should be set to:
10 . 100. 2 . ___
             100+X

Aggregate:   Wisconsin InstaGENI
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